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const int MAXN=1e6+5;

int alMAXN];

int

lef[MAXN<<2],rig[MAXN<<2|,maxv | MAXN<<2|,maxc|MAXN<<2|,secv|MAXN<<2|,lazy[MA
XN<<2|;
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LL sum[MAXN<<2|;
void push up(int k
sum/kl=sum|k<<1]+sum|k<<l|
maxv [ k<<l |==maxv| k<<l|
maxv | kl=maxv|k<<l];
maxc | k|=maxc|k<<l]+maxc|k<<l|1];
secv| k! =max(secv|/k<<l],secv| k<<l|

’

maxv [ k<<1|>maxv| k<<l|
maxv | kl=maxv|k<<l];
maxc|kl=maxc|k<<l];
secv/k/=max(secv|k<<l],maxv| k<<l| ;

maxv | K| =maxv| k<<1l|1];
maxc|k|=maxc|k<<1]|1];
secv|k|=max(maxv|k<<l],secv| k<<l| ;

void push tag(int k,int v
v>=maxv K ;
sum|[k|-=1LL*maxc|k|*(maxv k! -v);
maxv| k|=lazy kl|=v;

void push down(int k
~lazyk
push tag(k<<1l,lazy|k!|);
push tag(k<<l|1,lazy/kl);
lazylkl|=-1;

void build(int k,int L,int R
lef(kl/=L,rig/ k!=R,lazy kl|=-1;
int M=L+R>>1;

L==R

sum/kl=maxv kl=al[M];
secv/kl=-1;
maxc|kl=1;

I

build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update(int k,int L,int R,int v
maxv | k]|<=v :
L<=lef|k|&&rig|k]|<=R&&secv| k| <v

push tag(k,v);
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
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mid>=L)update(k<<1,L,R,v);
mid<R)update(k<<1|1,L,R,v);

push up(k);
int query max(int k,int L,int R

L<=lef|k|&&rig|k|<=R maxv k| ;

push down (k) ;

int mid=lef|k|+rig/ k|>>1,vl=-1,vr=-1;
mid>=L)vl=query max(k<<1l,L,R);
mid<R)vr=query max(k<<1|1,L,R);

max (vl,vr);

LL query sum(int k,int L,int R

L<=lef|k|&&rig|k|<=R sum k| ;
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
LL s=0;
mid>=L)s+=query sum(k<<1,L,R);
mid<R)s+=query sum(k<<1|1,L,R);
S,
int main

int T=read int();
T--
int n=read int(),q=read int();
rep(i,l,n)alil=read int();

build(1,1,n);
int opt,x,y;
q__
opt=read int(),x=read int(),y=read int();
opt==
update(1,x,y,read int ;
opt==

enter(query max(1l,x,y));

enter(query sum(1l,Xx,y));
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const int MAXN=1e6+5,Inf=2e9;
int al[MAXN];
int lef[MAXN<<2],rig[MAXN<<2|,maxv | MAXN<<2|,maxc|MAXN<<2|,secv | MAXN<<2]|;
int lazyl MAXN<<2]|,lazy2 | MAXN<<2]|;
LL sum[MAXN<<2|;
void push up(int k

sum|k=sum[k<<l]+sum|[k<<1|1];

maxv [ k<<l |==maxv| k<<l|
maxv | kl=maxv|k<<l];
maxc | k|=maxc|k<<l]+maxc|k<<l|1];
secv/ k! =max(secv|k<<l],secv| k<<l| ;

maxv [ k<<1|>maxv| k<<l|
maxv | kl=maxv| k<<l];
maxc|kl=maxc|k<<l];
secv/k!=max(secv|k<<l],maxv| k<<l| ;

maxv | K/ =maxv|/k<<1l]|1];
maxc|k|=maxc|k<<1]|1];
secv|k|=max(maxv|k<<l],secv| k<<l| ;

void push add(int k,int v
sum/ K/ +=1LL*(rig/k|-lef[k]|+1)*v;
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maxv | k|+=v,lazyl k| +=v;
secv|[k]!=-Inf)secv|kl+=v;
lazy2 k! !'=-Inf)lazy2 kl+=v;

void push min(int k,int v
v>=maxvV | k ;
sum/ k| -=1LL*maxc|[k!*(maxv| K| -v);
maxv | k|=lazy2 k|=v;

void push down(int k
lazyllk
push add(k<<l,lazyl k]);
push add(k<<1]|1,lazyllk]);
lazyl k|=0;

lazy2 k| !=-Inf

push min(k<<1,lazy2/k]);
push min(k<<1|1,lazy2|k]);
lazy2|k|=-Inf;

void build(int k,int L,int R
lef(kl=L,rig/ k!=R,lazyl[k|=0,lazy2|[k]|=-Inf;

int M=L+R>>1;
L==R
sum/kl=maxv| kl=al[M];
secv/k]|=-Inf;
maxc|kl=1;

’

build(k<<1l,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update add(int k,int L,int R,int v
L<=lef|k|&&rig|k|<=R
push add(k,v);

push down (k) ;

int mid=lef|k|+rig/ k!>>1;
mid>=L)update add(k<<1,L,R,v);
mid<R)update add(k<<1|1,L,R,v);

push up(k);

void update min(int k,int L,int R,int v
maxv | kl<=v ;
L<=lef [ k|&&rig| k| <=R&&secv k| <v
push min(k,v);
push down (k) ;
int mid=lef|k|+rig/ k|>>1;
mid>=L)update min(k<<1,L,R,Vv);
mid<R)update min(k<<1|1,L,R,v);
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push up(k);

LL query sum(int k,int L,int R

L<=lef|k|&&rig|k|<=R sum k| ;
push down (k) ;
int mid=lef kl+rig/ k!>>1;
LL s=0;
mid>=L)s+=query sum(k<<1l,L,R);
mid<R)s+=query sum(k<<1|1,L,R);
S;

int query max(int k,int L,int R
L<=lef|k|&&rig|k|<=R maxv k]| ;
push down (k) ;
int mid=lef | k|+rig/k|>>1,vl=-Inf,vr=-Inf;
mid>=L)vl=query max(k<<1,L,R);
mid<R)vr=query max(k<<1|1,L,R);
max (vl,vr);

int main

int n=read int(),q=read int();
_rep(i,l,njalil=read int();
build(1,1,n);

q__
int opt=read int(),l=read int(),r=read int();
opt

update add(1,1,r,read int ;

’

update min(1,l,r,read int ;

’

enter(query sum(1,1,r));

’

enter(query max(1,l,r));

r

0000000 %3450 000 0000000000000 0O0OO0ODOOD0ODODOODODOO
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g0 oooon
ggooooooo

https://wiki.cvbbacm.com/ Printed on 2023/10/02 14:27



2023/10/02 14:27 7/18 0ooooo
000000000 $0(n\log n+m\log”™2 n)$[]

const int MAXN=1e6+5,Inf=2e9;

int a/MAXN];

int

lef [MAXN<<2],rig[MAXN<<2|,maxv | MAXN<<2|,mmaxv MAXN<<2|,maxc|MAXN<<2|,secv|M

AXN<<2|;
int lazyl MAXN<<2]|,lazy2|[MAXN<<2|,mlazyl|MAXN<<2|,mlazy2|MAXN<<2|;
LL sum|[MAXN<<Z]|;
void push up(int k
sum|k=sum|k<<l]+sum|[k<<1|1];
mmaxv | kK |=max(mmaxv|k<<1|,mmaxv|k<<l]| ;
maxv [ k<<l |==maxv| k<<l|
maxv | k|=maxv| k<<l];
maxc | k|=maxc|k<<l]+maxc|k<<l|1];
secv/ k! =max(secv|k<<l]|,secv| k<<l| :

maxv [ k<<l |>maxv| k<<l|
maxv | kl=maxv|k<<l];
maxc|kl=maxc|k<<l];
secv| k! =max(secv|/k<<l],maxv| k<<l| :

maxv |k |=maxv| k<<1]|1];
maxc|k|=maxc|k<<1l]|1];
secv |k =max(maxv| k<<l],secv| k<<l| :

void push tag(int k,int v1,int v2,int mvl,int mv2
sum|[k|+=1LL*maxc| k| *v1+1LL*(rig|k]|-lef k|+1-maxc|k]|)*v2;
mmaxv [ K|=max (mmaxv|k|,maxv|k]|+mvl);
mlazyl kl=max(mlazyl|/k]|,lazyl k|/+mvl);
maxv | k|+=vl,lazyl|k|+=vl;
mlazy2 k|=max(mlazy2|k|,lazy2 k|+mv2);
secv| k! !=-Inf)secv k|+=v2;
lazy2 | k|+=v2;

void push down(int k
int temp=max(maxv| k<<l],maxv|k<<l| ;
temp==maxv | k<<
push tag(k<<l,lazyl k!,lazy2|/k!,mlazyl|/k]|,mlazy2 k]|);

push tag(k<<l,lazy2/k!,lazy2|/k!,mlazy2|k]|,mlazy2 k] );
temp==maxv | k<<1|

push tag(k<<1]|1,lazyl|k],lazy2|[k]|,mlazyl k!,mlazy2/k]);

push tag(k<<1l|1,lazy2|k],lazy2|/k]|,mlazy2/k!,mlazy2/k]);
lazyl|kl|=lazy2|k|=mlazyl k|=mlazy2 k|=0;

void build(int k,int L,int R
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lef[kl=L,rig/ k!=R,lazyl|[kl=lazy2 k! =mlazyl|k|=mlazy2 k! =0;
int M=L+R>>1;
L==R
sum| k|=maxv|k|=mmaxv|/k|=a[M];
secv/ k]|=-Inf;
maxc k| =1;

’

build(k<<1,L,M);
build (k<<1|1,M+1,R);
push up(k);

void update add(int k,int L,int R,int v
L<=lef|k|&&rig|k|<=R
push tag(k,v,v,v,v);

push down (k) ;

int mid=lef kl+rig/ k!>>1;
mid>=L)update add(k<<1l,L,R,v);
mid<R)update add(k<<1|1,L,R,v);

push up(k);

void update min(int k,int L,int R,int v
maxv |k |<=v ;
L<=lef|k|&&rig|k]|<=R&&secv| k| <v

push tag(k,v-maxv/ kl,0,v-maxv/|k]|,
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
mid>=L)update min(k<<1l,L,R,v);
mid<R)update min(k<<1|1,L,R,v);
push up(k);

’

LL query sum(int k,int L,int R
L<=lef k|&&rig/k|<=R sum|k]|;
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
LL s=0;
mid>=L)s+=query sum(k<<1,L,R);
mid<R)s+=query sum(k<<1]|1,L,R};
S,

int query max(int k,int L,int R
L<=lef|k|&&rig|k|<=R maxv k| ;
push down (k) ;
int mid=lef|k|+rig/ k!>>1,vl=-Inf,vr=-Inf;
mid>=L)vl=query max(k<<l,L,R);
mid<R)vr=query max(k<<1|1,L,R);
max(vl,vr);

int query mmax(int k,int L,int R
L<=lef k|&&rig/k|<=R mmaxv [ k| ;

’
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push down (k) ;
int mid=lef | k|+rig/ k|>>1,vl=-Inf,vr=-Inf;
mid>=L)vl=query mmax(k<<1,L,R);
mid<R)vr=query mmax(k<<1|1,L,R);
max(vl,vr);

int main

int n=read int(),q=read int();
_rep(i,l,njalil=read int();
build(1,1,n);

q--
int opt=read int(),l=read int(),r=read int();

opt

update add(1,1,r,read int ;

’

update min(1,l,r,read int ;

.
’

enter(query sum(1,1,r));

’

enter(query max(1,l,r));

’

enter(query mmax(1,1,r));

’

0000
HRERE
00 p431l4
00

0000000 $n$0000000DO0O0O

1. 0000 $[hris0000O

2. 0000 $[rls0D00O0O0
3. 0 $i\in[l,rl,a_i=a_i+Vv$

4. 0 $i\in[l,r],a_i=v$
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OO0O000d $0(n+q\log n)$

int alMAXN];

int lef[MAXN<<2],rig[MAXN<<2|,maxv|MAXN<<2|,mmaxv| MAXN<<2|;

int

lazyl|[MAXN<<2],lazy2|MAXN<<2|,mlazyl[MAXN<<2|,mlazy2 [MAXN<<2|,has set[MAXN<

< ’
void push up(int k
maxv | k|=max(maxv|k<<1l|,maxv/|k<<l]| ;

mmaxv [ kK |=max (mmaxv | k<<1l]|,mmaxv| k<<l| ;

void push set(int k,int v,int mv
maxv | kl=v,mmaxv/[kl=max (mmaxv k]l,mv);
has set|k
lazy2 | kl=v;
mlazy2 |k =max(mlazy2| k! ,mv);

has set|k|=1;
lazy2/ kl=v;
mlazy2 [k =mv;

void push add(int k,int v,int mv
has set|k push set(k,lazy2/kl+v,lazy2/ki+mv);
mmaxv [ k|=max (mmaxv/|k|,maxv|[k|+mv);
mlazyl|k|/=max(mlazyl|[k!, lazyl k/+mv);
maxv| k|+=v,lazyl k| +=v;

void push down(int k
push add(k<<1,lazyl k| ,mlazyl[k]);
push add(k<<1|1,lazyllk!,mlazyl|k]);
lazyl k|=mlazyl|k|=0;
has set|k
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push set(k<<l,lazy2/k!,mlazy2[k]);
push set(k<<1]|1,lazy2|k]|,mlazy2k]);
has set|[k|=0;

void build(int k,int L,int R
lef k!=L,riglk!=R,lazyl k|l=mlazyl k! =has set|[k]|=0;
int M=L+R>>1;

maxv | k|=mmaxv|/k|=a[M]|;

’

build(k<<1,L,M);
build (k<<1|1,M+1,R);
push up(k);

void update add(int k,int L,int R,int v
L<=lef|k|&&rig|k|<=R
push add(k,v,v);

push down (k) ;

int mid=lef kl+rig/ k!>>1;
mid>=L)update add(k<<1l,L,R,v);
mid<R)update add(k<<1|1,L,R,v);

push up(k);

void update set(int k,int L,int R,int v
L<=lef | k|&&rig[k|<=R
push set(k,v,v);

push down (k) ;

int mid=lef|k|+rig/ k!>>1;
mid>=L)update set(k<<l,L,R,v);
mid<R)update set(k<<1|1,L,R,v);

push up(k);

int query max(int k,int L,int R
L<=lef|k|&&rig|k|<=R maxv k]| ;
push down (k) ;
int mid=lef|k|+rig/k!>>1,vl=-Inf,vr=-Inf;
mid>=L)vl=query max(k<<l,L,R);
mid<R)vr=query max(k<<1]|1,L,R};
max(vl,vr);

int query mmax(int k,int L,int R
L<=lef | k|&&rig/k|<=R mmaxv | k]| ;
push down (k) ;
int mid=lef | k|+rig/k|>>1,vl=-Inf,vr=-Inf;
mid>=L)vl=query mmax(k<<1,L,R);
mid<R)vr=query mmax(k<<1|1,L,R);
max(vl,vr);

int main
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int n=read_int();
_rep(i,1l,n)alil=read int();
build(1,1,n);
int g=read int();
q__
char opt=get char();
int l=read int(),r=read int();
opt
Q"
enter(query max(1,l,r));
Al
enter(query mmax(1,1,r));
'P':
update add(1,1,r,read int ;
'C':
update set(1,1l,r,read int ;

’

ggd
20200 00 00D 0O0Odayl BO
g

0000 $A$00 O $G(i,j)=\text{gcd}(a_i,a_{i+1}\cdots a_j),M(i,j)=\max(a_i,a_{i+1}\cdots a_j)$[0C

$$ \sum_{i=1}"n\sum_{j=i}"nG(i,j)M(i,j) $$
an

0000 $\sum_{j=1}"iG(i,j))M(i,j)$s 0000

00 $Nlejleis 0 $G(i,j))$ OO $0(\ogVv)$ 0D OO O OO $G(i,j)=\text{gcd}(G(i-1,j),a_i)$[
0000 $0(\ognlogV)$ 00 D0 DO0D0 $G(i,j)$00 0000 $G(,j)$ 0 $[1,i1$00000000
00 $M(i,j)=\max (M(i-1,j),a )$00 000000000 O0ODOO0OODOOOO0OOODO

0000000000000 0000000000 $0(ogn\logv)$JO0 000 OO0 $0(n\log n\log
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const int MAXN=2e5+5,Mod=1e9+7;

int a/MAXN];

int

lef [MAXN<<2],rig[MAXN<<2|,minv | MAXN<<2|,minc[MAXN<<

XN<<2|;

LL sum|[MAXN<<2|;

void push up(int k

sum/K|=(sum|k<<l]|+sum|k<<1| %Mod ;

minv|k<<l|==minv|k<<l|
minv | k|=minv|k<<l1];
minc[kl=minc|[k<<l]+minc|k<<1|1];
secv/k!=min(secv|k<<l],secv| k<<l| ;

minv|k<<l|<minv|k<<l|
minv|kl=minv| k<<l];
minc|kl=minc|k<<l];
secv/k!=min(secv/|k<<l|,minv|k<<l| ;

minv|k|=minv| k<<1]|1];
minc|k!=minc|k<<1]|1];
secv/k!=min(minv|k<<l]|,secv| k<<l| ;

void push tag(int k,int v
v<=minv |k ;
sum|/kli=(sum[k!+1LL*minc[k]*(v-minv[k] ) )%Mod;
minv/ k! =lazy|/kl/=v;

void push down(int k
~lazy |k
push tag(k<<1l,lazy|k!l);
push tag(k<<1|1,lazy/k!l);
lazy kli=-1;

void build(int k,int L,int R
lef k!=L,riglk!=R,lazyk]|=-1;
L==R
sum/kl=minv| k]|=0;
secv| k|=2e9;
minc|kl=1;

.
’

int M=L+R>>1;
build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

,secv|[MAXN<<

, Lazy [MA
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void update(int k,int L,int R,int v
minv|kl>=v ;
L<=lef|k|&&rig|k]|<=R&&secv| k|>v

push tag(k,v);
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
mid>=L)update(k<<l,L,R,v);
mid<R)update(k<<1|1,L,R,v);

push up(k);
int query sum(int k,int L,int R
L<=lef | k|&&rig/k|<=R sum|[k];
push down (k) ;
int mid=lef|k|+rig/ k/>>1;
LL s=0;

mid>=L)s+=query sum(k<<l,L,R);
mid<R)s+=query sum(k<<1|1,L,R);
s%Mod ;

int gcd(int a,int b
int t;

struct Node

int v,pos;
Stack MAXN| ,temp ! MAXN|;
int main

int n=read_int();
build(1,1,n);
_rep(i,1,n

alll=read int();

int top=0;
Stack|top!=Node{0,0};
int ans=0;

_rep(i,1,n
update(1,1,i,alil);
rep(j,1,top

Stack|j|.v=gcd(Stack|[jl.v,alil);
Stack|++top/=Node{alil,i};
_rep(i,1,top

temp[i|=Stack[i];

int top2=top;

top=0;
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_rep(i,1,top2
temp/i]|.v==Stack/ top!.v)top--;
Stack|++top|=temp[i];

int i=top;i;i--
ans=(ans+1LL*Stack|i]|.v*query sum(1,Stack[i-1].pos+1,Stack(i].pos))%Mod;

enter(ans) ;

.
1

god

CF1290E
00

OO0 $1\simn$ 000 $A$]

O skin[1,n]$00 00 $a_iNlek$s OOODOOOOOODODOOOODODODOOOODODODODODODODDO
HEN
000 $k$0 000 $B$S 0000 $1\simk$ OO OO $1is 000000 $b \itb i\cap \lti$ O $j$

0000000 $$0000 $1i=0%0

$ris 000000 $bhjltb \cap\ti$ 0 $j$ 0000000 $j$ 0000 $ri=k+1$000 $bi$ 00
000000 $(Lir)$000000 $ri-li+1$Q

O $ans_k=\sum {i=1}"k (r_i-Li-1)$00 00 O $\sum_{i=1}"kr_i$[

000 $k$ 0000 $B$ 0 $ris 0000000 $k$ 0 $AS0DOODOD $p$00 00000 O OO $k$
0$B$00000 $p'$[]

00 $r {p'}=i+1$00 O $i\lt p$00 $r_i=\min (r_i,p")$00 O $i\gt p$Q0 $r i=r_i+1$[
O00D00D0o0oooooDooooooooooon $0(n\Mlog”™2 n)$0
O $\sum _{i=1}"k | i$000 $A$ 000000000000 $\sum {i=1}~kr i$0000

$$\sum_{i=1}"k (r_i-L_i-1)=\sum_{i=1} "~k (r_i-(k+1-r'_i)-1)=\sum_{i=1}"k r_i+\sum_{i=1}"~k r'_i-
k(k+2)$$

const int MAXN=1.5e5+5,Inf=2e9;

int a[MAXN];

int

lef [MAXN<<2],rig[MAXN<<2|,maxv | MAXN<<2|,maxc MAXN<<2|,secv|MAXN<<2|,sz|MAXN
<< .

’
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int lazyl/ MAXN<<2],lazy2 MAXN<<2|;
LL sum[MAXN<<2|;
void push up(int k

sum|/k|=sum|k<<l|+sum k<<1|1];

sz[kl=sz[k<<l]+sz[k<<1|1];

maxv | k<<l |==maxv| k<<l|
maxv | Kkl=maxv| k<<l];
maxc | k|=maxc|k<<l]+maxc|k<<l|1];
secv/ k! =max(secv|k<<l]|,secv| k<<l| ;

maxv [ k<<l |>maxv| k<<l|
maxv | kl=maxv| k<<l];
maxc|kl=maxc|k<<l];
secv/ k! =max(secv|k<<l]|,maxv| k<<l| ;

maxv | k|=maxv k<<l]|1l];
maxc|k|=maxc|k<<1l]|1];
secv/|k!=max(maxv|/k<<l],secv| k<<l| :

void push add(int k,int v
sum|[k!+=1LL*sz[k]*v;
maxv| k|+=v,lazyl k| +=v;
secv/ k| !=-Inf)secv/ k]|+=v;
lazy2|k|!=-Inf)lazy2|kl|+=v;

void push min(int k,int v
v>=maxvV | k ;
sum[k]-=1LL*maxc|k]*(maxv[k]-v);
maxv | k|=lazy2 kl=v;

void push down(int k
lazyl k
push add(k<<1,lazyl k]l );
push add(k<<1]|1,lazyllk]);
lazyl|k|=0;

lazy2 k| !=-Inf

push min(k<<1,lazy2|k]l);
push min(k<<1|1,lazy2/k!);
lazy2|k|=-Inf;

void build(int k,int L,int R
lef[kl=L,rig/ k/=R,lazyl[k|=0,lazy2|[k]|=-Inf;
L==R
sum[kl=maxv| kl=sz[kl=maxc[k]=0;
secv/ k]|=-Inf;
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int M=L+R>>1;
build(k<<1,L,M);
build(k<<1|1,M+1,R);
push up(k);

void update add(int k,int L,int R,int v
L<=lef|k|&&rig|k|<=R
push add(k,v);

push down (k) ;

int mid=lef|k|+rig/ k!>>1;
mid>=L)update add(k<<l,L,R,v);
mid<R)update add(k<<1|1,L,R,v);

push up(k);

void update min(int k,int L,int R,int v
maxv | k]|<=v .
L<=lef|k|&&rig|k]|<=R&&secv|ki<v

push min(k,v);
push down (k) ;
int mid=lef kl+rig/ k!>>1;
mid>=L)update min(k<<1l,L,R,v);
mid<R)update min(k<<1|1,L,R,v);
push up(k);

void insert node(int k,int pos,int v
lef[kl==rig|k
sum[kl=maxv/ kl=v;
maxc kl=sz|k|=1;

.
’

push down (k) ;

int mid=lef|k|+rig/ k/>>1;
mid>=pos

insert node(k<<l,pos,v);

insert node(k<<l|1,pos,Vv);
push up(k);
int query sz(int k,int L,int R
L<=lef|k|&&rig|k|<=R szlkl;
push down (k) ;
int mid=lef|k|+rig/ k!>>1;
int s=0;
mid>=L)s+=query sz(k<<1,L,R);
mid<R)s+=query sz(k<<1|1,L,R);
S,
int p/MAXN/;
LL ans[MAXN|;
int main
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int n=read_int();
_rep(i,1,n
plread int() |=1;
build(1l,1,n);
_rep(i,1l,n
insert node(1l,pli],i+1);
p/il<n)update add(1,pl[il+1,n,1);
plil>1)update min(1,1,plil-1,query sz(1,1,pli ;
ans|i|+=sum ;
build(1,1,n);
~rep(i,l,n)plil=n+1l-p[i];
_rep(i,1,n
insert node(1,plil,i+1);
plil<njupdate add(1,p[il+1,n,1);
p/i/>1)update min(1,1,p[i]-1,query sz(1,1,pl1i ;
ans|i|+=sum ;
_rep(i,1,n
enter(ans|i|-1LL*i*(i+ ;
;
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